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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)
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Amplitude Distribution (with pedestal subtraction)

104

10°

107

10

I

—400

—200

hampSubO
Entries 300000
Mean 71.11
Std Dev 104
Underflow 0
Overflow 0
X?/ndf  1.798e+05 / 44
Prob 0
Constant 1667 + 10.3
Mean 67.09 + 0.46
Sigma 34+0.2

— Sumb4
—— dynode
—— quadl
— quad2
guad3
—— quad4
guadsum

0

200

400

600 800 1000
Amplitude [fADC]




Integral Distribution (with pedestal subtraction)

[T I I ) I I I I | I I I I | I hlntSUbO

N ﬂ Entries 300000
10% i Mean 263.1

- y Std Dev 412.7

N : Underflow 135

- i | Overflow 0
103 X2/ ndf 284.6 / 185

- Prob 3.434e-06

B Constant 583 + 2.8

i f Mean 606.2 + 1.5
10° Sigma 268.3 + 1.9

— Iy _]

- i”ﬂml_. N

— — SunMb«

L —— dynode
10 Hﬂ; || p———

— quad3

: Hﬂ —— quad4

i guadsum

i | 1 T I

| | | | | | | | | | | | | | |
0 500 1000 1500 2000

Integral [fADC]



INs T

Amplitude (pedestal subtracted)
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